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Q1 (a) There are two main types of finance which are equity and debt. Equity is
money subscribed by investors or shareholders. The shareholders get
returns from dividends and capital growth in the value of their equity.
Describe details about debt.

(8 marks)

(b) Farid invests RM2,000 now and he is promised by the Bank to receive
RM100 payment every year for 3 years, plus RM2,500 in the 3rd year.
Bank A offers an interest rate at 10% while Bank B offers an interest rate
at 6%. Calculate the Net Present Value (NPV) and determine which bank
offers better investment.
(12 marks)

(©) Due to increased in demand, the management of Rani Supply & Rental
Company is considering to purchase a new equipment to increase the
production and revenues. The useful life of the equipment is 10 years and
the company’s maximum desired payback period is 4 years. The inflow
and outflow of cash associated with the new equipment is given in
Table Q1 below:

Table Q1: Inflow and outflow of cash

The initial cost of equipment RM 37,500
Annual cash inflow:
Sales RM 75,000
Annual cash outflow:

Cost of ingredients RM 45,000
Salaries expenses RM 13,500
Maintenance expenses RM 1,500

Use payback method to determine whether Rani Supply & Rental

Company should purchase the new equipment or not.
(5 marks)

Q2 Fatia had a one-time investment of RM10,000. Calculate total money from her
account if she withdraws the money after 30 years;

(a) At 12% simple interest rate
(3 marks)

(b) At 12% interest compounded yearly
(3 marks)
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At 12% interest compounded quarterly
(3 marks)

Determine the best investment from the answers in Q2 (a), Q2 (b) and
Q2 (¢) and explain your reasons.
(3 marks)

Draw cash flow diagram for every 10 years from the answer in Q2 (d).
(9 marks)

Calculate the annual effective interest rate from the answer in Q2 (d) and

explain the result.
(4 marks)

Table Q3 (a) contains the cash flows associated with a decision to
purchase a machine, with the net cash flows listed for each of the next five
years. Determine the discount factor using Parry’s Valuation shown in
Figure Q3 (a) which assumes the existence of an 8% interest rate through
the five-year period and calculate the Net Present Value (NPV).

Table Q3 (a): Cash Flow

Year Cash Flow (RM)

-120,000

35,000

35,000

35,000

25,000

NR|WIN=IO

25,000

(13 marks)

Give definition of Life Cycle Cost (LCC) Analysis
(2 marks)

Discuss detail steps in the completion of the LCC analysis of a project

alternative.
(10 marks)
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Exide Company is a supplier company. The current assets and current liabilities
as on 31 December, 2012 are given in Table Q4 (a). The YXM Sdn. Bhd. is a
consultant company with current assets and current liabilities as on
31 December 2012 are given in Table Q4 (b).

(a)

()

(©)

(d

(e)

List the current assets for Exide Company and YXM Sdn. Bhd.
(8 marks)

Calculate the working capital turnover ratio for Exide Company and YXM
Sdn. Bhd.
(8 marks)

Compare and explain calculation results from Q4 (b).
(5 marks)

Calculate the return of the capital if Exide Company gets RM 100,000.00
profits a year with RM 250,000.00 investments.
(2 marks)

Explain why calculating the working capital cost is important.
(2 marks)

- END OF QUESTIONS -

4 CONFIDENTIAL



CONFIDENTIAL

BFP 40503
FINAL EXAMINATION
SEMESTER/SESSION: SEM 11/2015/2016 PROGRAMME CODE: BFF
COURSE NAME : PROJECT FINANCIAL MANAGEMENT COURSE CODE: BFP 40503
Table A Present value of £1
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Figure Q3 (a): Parry’s Valuation
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Table Q4 (a)

Exide Company
Cost of goods sold RM300,000
Accounts payable RM60,000
Inventory RM40,000
Accounts receivables RM50,000
Notes receivables RM10,000
Cash RM20,000

Table Q4 (b)

YXM Sdn. Bhd.
Current debt RM40,000
Accounts payable RM80,000
Inventory RM40,000
Accounts receivables RM?20,000
Accrued expenses RM30,000
Cash RM200,000
Securities RM100,000
Cost of goods sold RM500,000
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